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All admit concerning 29277 985> — B9577 SRS BT 9O (o)

Overview

»ax taught that concerning 777 °X23 there is NMP%1 even one if transgressed”
it INX377 7172 XKW, The reason is because the prohibition concerning 01277 °X%5
is not derived from a ™2oXn X?' (which can denote X317 7772); but rather
through a different manner. M»01N explains why *°2X does not mention two
other 0°110°X whose prohibition is also not derived from a 7580 &Y.

MooIN asks:
— NNYa NIV 1’5111:1 01 99N 9INP NY1 NN

The reason the X7 did not mention that everyone admits concerning

STV YOI PP that there is *Mpbn even 1NRIT T XYW, s -
— %9 NP2 NYINY HNANNT NYIIN 1N 29NIT DIUN

Because the term 7992K is written by it, for we derive the M0°R of P91

7712 wnwiw from the 10D of N®SRY NRamM, therefore there is an oK' only 7772

INRIT -
— SREPIINT INY AANT IR NIONT 1IN

And another reason it is not mentioned for there is the one who maintains
that 79Tv2 MY P2 are not prohibited 7057 2.

mooin asks an additional question:
— 25N YWaa 0N YN MNP NI XM

And the reason the X713 does not mention that all agree concerning =w2
abma that there is MpPbn even INRIT 17D ROV —

mooIn responds:
:61"111 19 1297019 PPRT OIVN NIY

" This Moo should precede the previous 1"p nnx A"7 moown. [Perhaps it was placed after it, for the last
answer of this Mo0n requires the knowledge that 25112 7w2 is X172 MOR on account of a 1"'p. See footnote #
6.]

2 See X"w1n who maintains that »X is teaching that (even) if one had X371 77172 Xow IX317 he is P12, See
‘Thinking it over # 4.

? See “Thinking it over’ # 1.

* See n" 7"7 8,23 *"wA. See ‘Thinking it over # 3.

> Obviously if 7712 WAWIY P91 is K87 WY (and according to MooIN this means that there is no MX at
all 7707 72 for 7Y P2 [see P2 "7 X,25 M9oIN]), there is no 797282 MK even 173 and 172 XOW W'D,

6 According to our X>30 the 7X37 MO°X by 29m2 w2 is derived 1"'p2 from 7197y. Even though mson
previously (n7nK 71"72) taught that the "7 from 777y is merely a Xn?" "17°) that we derive the 7X37 MO°X by
2"w3 through a " from 0°w7p, nevertheless since a 1"p is required, it may be considered 77 12 D wnw.
[That is (perhaps) why n1on says '®nw' (see previous footnote # 1).] See *"15 and XMW 727.
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Perhaps it is because we do not punish for prohibitions that are based on a
V',

Summary
»aK does not mention 1NXT 17D XYW by 771va wnwaw 190 either because the

term 122X does appear, or because others maintain it is XN»7RT K.
Similarly he does not mention 2512 w2 for 1777 11 PWIY PX.

Thinking it over

1. mooin asks why »ax does not mention 777v2a 7217 (that there is MpPYn even
7775 ®9w).” Seemingly there can never be nipon by 771va WY 910 (even
7772) for there is no W; merely the 7wy of 981 nman!®

2. It is indicated later in the X3 that *»ax maintains that by n"21a there is
mpon if it was done 7172 X?w. Why does that not contradict that which nooin
maintains here that since 1°77 12 7 71 7R therefore there is no MpPh» by 122
if it is 7772 Xow?'?

3. When mpoin asked why does not *»aX mention 775¥2 wnwaw 1211; did not
mooIn realize that it is MOX because of the words n2ox1 nnan (which
mentions 77°98)?!"!

4. According to m»ooin does *aX maintain that there is mpY» by 0737 X9
[only] if he ate it IR 7772 ROW or even if he [only] had 7772 XYW nXi7
nRIT?"

7 See footnote # 3.

¥ See 121 Ao WX ,°"10 0" A" AN YT DR n'on.
7 R,

' See (71%77) X"w1mn and R X,

' See 7w 67 in w"x17 Moo and Xyp MX n'"» 2"
12 See footnote # 2.
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